The Specialist In Drum Handli;g—Equipment

Part # 3010MCPT-P
MORStak Carriage Assembly
with Spark Resistant Parts

Parts List and Diagram for Morse Part # 3010MCPT-P Carriage Assembly
Used on MORStak Drum Rackers with Spark Resistant Parts
with Serial number 262765 to

ITEM QTY PART # DESCRIPTION
1 4 64-P ROLL PIN, 3/16 X 1-1/4
2 4 55-P WASHER, 3/4 SAE FL 1-1/2 OD
3* 2 5522-P CYLINDER, 2 X 10, SAE ADJ CLEV
4 2 570-P COLLAR, 1-1/2" ID
5 2 2587D-P CLEVIS PIN, TILT CYL DEAD 600
6* 4 3194-P BEARING, 3/4 ID, 82, 500, 600
7 2 3048-P PIN, DRUM GRAB, MORSTAK 600
8 1 3020-P ARM WELD, R CLAMP, MORSTAK 600
9 2 1518-P NUT, 1/4-20 NYLON LOCK
10 1 2598M-P DRUM PRESENCE WELD, SR MORSTAK
13~ 2 560-P BEARING, 1-1/2” ID X 2”, GR
14 2 2587L-P CLEVIS PIN, TILT CYL LIVE 600
15 1 3956M-P DRUM GRAB WELD, SR MORSTAK
16 1 2869-P HANDWHEEL, 6” ALUM, 5/8” BORE
17 3 15-P COLLAR, 3/4” ID
18 1 3963-P SHORT CLEVIS WELD, RH GRAB 600
19 4 1167-P CLEVIS PIN, 1/2” X 1-3/8”, 90
20 1 3963L-P SHORT CLEVIS WELD, LH GRAB 600
21 2 7-P BEARING, 3/4” ID X 1-1/2”
22 2 3961-P LINK, DRUM GRAB, 600
23 2 3965-P DRIVEN TUBE WELD, GRAB 600
24 1 3022-P ARM WELD, L CLAMP, MORSTAK 600
25 4 785-P COTTER PIN, 1/8” X 1”
26 1 3964-P 3/4-10 THREADED ROD WELD 600
27 2 1040-P SHCS, 1/4-20 X 2-1/2
28 2 1675-P ROLL PIN, 1/8 X 7/8
29 2 4205-P BUSHING, SPACER, CLAMP PAD PIN
30 1 5464M-P CLAMP PAD WELD, SR
30A 1 5464HM-P | CLAMP PAD, TAPPED, SR
31 2 2922-P PIN, CLAMP PAD RETAINER, 600
32 2 5102-P SWITCH, AIR LIMIT, 611-114
33 1 3955M-P DRUM GRAB ASM, SR MORSTAK
* Recommended spare parts.

MORSE Mfg. Co., Inc. .
Phone: (315) 437-8475

727 West Manlius Street .
Fax: (315) 437-1029

Copyright 2014 - Morse Mfg. Co., Inc.

Form PL3010MCPT (262765- )

P.O. Box 518 .

. Email: service@morsedrum.com

East Syracuse, NY 13057-0518

Website: morsedrum.com

(Updated March 31, 2014 3:13 PM) 1


mailto:service@morsedrum.com
http://www.morsedrum.com

:Fg\gfﬁ\.,@’, Part # 3010MCPT-P
R MORStak Carriage Assembly

The Specialist In Drum Handling Equipment with Spark Resistant Parts

Parts List and Diagram for Morse Part # 3010MCPT-P Carriage Assembly
Used on MORStak Drum Rackers with Spark Resistant Parts
with Serial number 262765 to

DETAIL A

S |

morsedrum.com
Copyright 2014 - Morse Mfg. Co., Inc. Form PL3010MCPT (262765- ) (Updated March 31, 2014 3:13 PM)


http://www.morsedrum.com

